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“.. MENTAL "ABILITY TEST-2013

TIME: 90 MINUTES
T - 90 Fme

Instructions to the Candidates

Read the following instructions carefully before
you answer the questions.

1. Answers are to be given on a SEPARATE
ANSWER SHEET.

2. Please write your twelve digits Roll Mumber
very clearly on the Test-booklet and Answer
Sheet as given in your admission card,

3. Please note and follow the instructions, given
on the answer sheet for writing the answers.

4. Darken the circle with pen for answe
the question in the appropriate spacesfg t
the number corresponding to t £t

oL are answerin %
¥ ing. V g y

There are 90 questions in ﬁ(v!L P

-

tn any guestion,

[y

o

Since all guestions are com
iy to read the whole guestion
beginning to answer it.

7. Hyoudo not know the a
do not spend much i nd pass on to
the next one. If time Nerr ts, YOU can come
back to the gueslions, which you have left in
the first instance and try them again.

g Since the time allotted for this question paper
is very limited you should make the best use
of it by not spending too much time on any
one guestion.

9. Rough work can be done anywhere in the
Test booklet but not on the Answer sheet/
loose paper,

14
1

Every corect answer will be awarded one mark.

Please return the Answer Sheet to the
invigilator after the examination.
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Directions {1-10): In the following ques -
fions, four items (numbersinumber pairs/
letter groups) are given. Three of them are
alike in a certain way and one is different.
Find the odd one out from the alternatives.

Fdur (1—10): R g W aw ne (W S
TS/ 3R wHE ) B B o A A v e
war # forg v fov 21 ol 2o foeredt 3 8 awiara
W I A Ffera

1. DE 2. PQ 3. TU 4, WY
i

1. CFl 2. DG 3. HKO 4. FIL
3

1. 11 2. 15 3. 17 419
4.

1, ZW 2.TQ 3.8P 4. NL
5.

1. 441 2. 343 3. 289 4.625
6.

1. 85WU 2. CGE STR 4. 0S5Q
7 Q\

1. VUWH 2. JKLI Q 4. STUR
8. Q% o

1. Carrot 2. Mang% Q 4. Orange
; )

1,25 2.4 C) 3. 49 4.8
10 ,‘

1.22 2.® 3.333 4. 5555

Directions (11-20): In the following questions,
there is a relationship between two figures
on the left of the sign(::). The same relation
ship exists between the figures to the right of
the sign (:) of which one is missing. Find the
missing one from the alternatives.

1. 23:48::33:7

o (n-20): Fes asi & e () & o 3w
= 2 wel A g e B wE Wy e (o) &
= R W D R F W B, T d v o
o B famwedl ¥ & o7 w2 @ Sl

1. 96 2.78 3.58 4,46
12, 2% 581

1. 102 2.117 3. 138 4.123
13. ADH:CFJ:LOS:7?

1. NQU 2. MPS 3. NQT 4. NPR
DES&M/08/13 {2)
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14, DCB :WXY :: HGF : ?
1. SRQ 2.8TU
15, FVE2BE0TT
133 2. 28
16. 9:16::49:7
1. 81 2.64
T Ne2iEey
.Y 2.8
T 2r18nk e
1. H25 2. 625
19. DELHI: EDMGJ :: MUMBAI : ?
1. NTNABH 2. NVNCBJ
20. BDI:942:: GFH:?
1. 786 2. 876
Directions (21-25): Read carefully the
Information given below then answer the
guestions 21 to 25.
1. Aand B teach Hindi and Eng[
2. Cand B teach English a |5f
3. D and A teach Mathemaligs &nd H:m.;
4. E and B teach History and P
21. Out of these teachers w axi—
mum number of subjecty?
oA
22. Qut of the following, which pair of teach-
ers teach both Geography and Hindi.
1. Aand B 2 BandC
3.Cand D 4. None of these
23. Which subject is taught by more than
two teachers?
1. History 2. Hingi
3. Punjabi 4. Math
24. Which are the subjects taught by all three
-D.B and A.
1. Only English 2. Hindi and English
3. Only Hindi 4. Hindi and Math
DES&M/OB/13
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21

22

23

24

www.TrbTnpsc.com

3. RPM 4. RST

3. 37 4. 41

3. 100 4. 121

3. X 4. W

3. 425 4. 55

3. LVLCEJ 4 NVLMCDE
3. 867 4.678

Feur (21-25): F & v e = e

T A Wg] H 25 WE B I 5

= AR ST e #
X w} B sl st e v &
:':- D a1 A TiE i 75 wem &
4. k7 B Few siv vwe mem

I TS A W R W s e usmw 27

T.A 2. B 3. C 4.D

e da=s=4 AT S A e 3
ot wardt 27

1 Aam B 2. Bam C
3 Caw D 4 =99 F g 95

st W fawm 2 @ afos s T2
®7?

), gfaems
3. THE

2. f&&
4, T

W owtr A fma & o D, B s A #E v
27

1 s 2. [ wan anrsh
3, faw 4, T&5 o oo
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25, Out of the following, which teacher 25 o3 % =9 @ searys =1 9 F9 =99 720
teaches less than two Subjects. 27
1. A 2.B 1A 2.B
3.C 4. None of these G4.3. o g ==

26. The total number of triangles in the 26 = fo3 T o & Byl o a7 wem 2
following figure are: _

Y

1.9 2.10 3.8 412

27. The total number of squares in the follow 27, = f&d = fra 3§ =0 =5 557 we=m &
ing figure are:

1.42 2.0 %(') \Q@

28. In the following series, how many fi vﬁﬁ%é’tﬁ Sl e A A 4 e R W R
does the digit 4 appear after @ TR A T AT S WA I 3 A
followed by the digit 3. /X B

B74138342567435827420187463

59321?4259@
1.5 3.7 4.8

29, In the following series how many times 20 =2 8 o @ w8 % 5w 8 faad @0 = 299

S o

O
a8

4. 14

does the digit 8 appear after the agit 9 =9 ¥ UEH 3E 9 I B A4 W@ H Fw 7 I
and before the digit 7. Gl
BO328719876946108320876830840873
1.6 2.3 3.5 4.4
30. On the basis of marks obtained in 30 3t =er & w4 A= F o= s & Huw W
Mathematics,Ram secured 11" rank in VT T T wralEn A W e It 239 T
his class, while from bottom his position B e ¥ @ &
is 237 in the class. The total number of
students in the class are: -
1.34 2. 33 3. 32 4.31
})ES&MIUBHS (4)
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Directions (31-40): In the following
questions, numbers/words are written
in a certain sequence. Find the missing
numberiword, to replace the question
mark from the given alternatives,

31. ,
90 1123, 47.. %, 99
1.83 2.98
32.
8,19, 41, 85, 7, 349
1.173 2.168
33,
AR LML, L
1.V 2. W
34.
2.4 .8,16,32 64 2
1. 96 2.112
35,
BP, EG, HJ KM .2 7’
1. NQ QEE§:;)
36. 2,5, 9 2 20, 27
1. 14
37. AN, BO, CP,DQ, ?
T ,&
38. 20,19,17. 72, 10, 50
1. 42
39 G ILLPU?
1. A 2. B
40 240, 240, 120, 40, 2, 2
1.5 2. 10
41. GouravisSunita's brother.Sunitais Jyoti's
daughter. Jyoti is Prem's wife. What is the
relation of Prem with Gouray?
1. Father 2. Brother
3. Grand Father 4. Uncle
DES&M/08/13
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ot (31-40): P w3 weng ae ven
A ol 1E A R e R ¥ 9w
m/w%—iﬂaﬂﬁqﬁmﬁﬁ'%w
T T

3.97 4.95
3.178 4471
3z 4.y
a{*?\ 4.132
4. NM
3.18 4.24
3.EQ 4. ER
3.14 4.15
3.2 4.y
3.20 4.15

T, g oWE 2w, W A 38
T, ¥ 5wt 31 W i o sy 27

1. fomm 2. Wi

3. TR 4. 3w

SCERT, UT Chandigarh
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46.
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Seema is Sachin's sister. Sachin and
Souravarebrothers and Sourav is Kamla's
son. What is the relation of Kamla with
Seema?
1. Sister

3. Sister in law

2. Daughter
4. Mother

In a familythere is one head of the fam -
ily, his wife, three sons and their wives,
Every son has two sons and one daugh-
ter. How many male members are there
in the family?
1.4

3.8

2.10
4.12

If the word READING s coded as
RNIDAEG , how can the word HISTORY
be coded?

1. HRSTOIY
3. HROTISY

If the word PINK is coded
can the word BLUE be mded‘?

1. DJCW 2. DWJC
3. DJWC 4. W

If the word MADRAS is\@ed s
NBESBT, how can the w8Td BOM-

BAY be coded?

1. CPNCBX 2. CPOCBZ

3.cQocBZ 4, CPNCBZ
47. If theword SUCCESS iscodedas VXFFHVY,

how can the word VICTORY be coded?

1. YLFWRUB 2. YLFXRUB

3. YLFWSUB 4. YLFVSUB
48 If the word COBRA is coded as

3152181, how can the word ZEBRA be

coded?

1, 2652811 2. 2652181

3. 2652118 4.2651182
DES&MIOBMS

www.TrbTnpsc.com

STSE 2013

42

43

44

2 HROTSIY Q\ RSTDW‘(‘
HRTO Q
.:55

5

Q\\

ds

47.

48,

(6)

W, AR g asg 81 9 i Hiw ad ¥ s
e e & FE L wwen dEm F e F e

2. A

4 w

e i H Wi, e v A 3 T A a2
1 geia #) iaw # W U A % oM A-E w4l
¥ #i v 3 ¥ URAN W wE (RN e w4
T 37
1.4
3.8

2. 10
4,12

aft READING w= @ sz RNIDAEG
ﬁ At iz HISTORY 23 Fafas fear wmgm?

2. HROTSIY
4. HRTOSIY

$ qd
K ez & waaen RGPl & m=

LI._IE =4 wafaw = wom?

1. DJCW
3. DIWC

2. DWJC
4. DCIW

af: MADRAS = = w==mrw NBESBT =1,
A1 7= BOMBAY #a gaifas famn smem?

1. CPNCBX 2. CPQCBZ
3.CQ0OCBZ 4. CPNCBEZ

g SUCCESS mer = agaen VAFFHVY
= A3 we VICTORY #3 vafas o wem?

1. YLFWRUB 2. YLFEXRUB
3. YLFWSUB 4. YLFVSUB

7% CORRA w= & waanr 3152181 #
= ZEBRA % wafas Frar wmoan

1. 2652811 2, 2652181
3. 2652118 4. 2651182

|
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49. In a certain code language 851 is a code 40 R s sr ¥ "Good Sweet Apple” # fwv i

for"Good sweet apple *, 783 for “Good 851, "Good Red Rose" = fag 783 @ "Rose and
red rose” and 341 for “Rose and apple". Apple" = e w39 341 %1 "sweet" we & o wan
Find the code number for "sweet.” et

1.8 2.1 1.8 2.1

3 B 4.3 3.5 4.3

0. If green colour is called vellow, yellow is 50 smw % @1 = aie wEd WS w Ser wey

called blue, blue is called black, black is A T F WY 2, WE A A wEy #, e
called red, red is called purple, then what WA R ¥, F WAST T e g 27

is the colour of human blood ? h n

| T 2 FHA

1. Red 2. Purple o B

3. Blue 4. Green
Directions (51-60) : In questions 51 to 60, B (51-60): vw wemm 51 ¥ 60 F wdE umw
replace the question mark with a suitable & it fag g et § | vl 3w e ww e
number given below in each question. (7) & 7o o forfag

st A N
22 (::) ;Eb éﬁ;\.;’ ‘i;;j

J 131 5 | 18 J 20 14 | 2 | 24
12 0« 16 18
1.8 2. 7 3.9 4. 6
52,
18 16 12
r 4 50 | 1 J 3 56 | 4 3 ? 3
8 8 6
1. 40 2. 38 3. 36 4, 42
DES&M/OBM3 (7) SCERT, UT Chandigarh

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



www.Padasalai.Net www.TrbTnpsc.com

STSE 2013

53. )
3 8 5
2 | 16| 7 5 | 22|86 717 |4
4 3 8
| 2. 28 3. 30 4, 24
54
4 5 4
3 | 22| 2 l 6 | 42| 3 71723 ‘

. 1.58 2@:)(:) (\

oy 4. 80
13 4
Tela S [a[v] [+[7]=
7 7 2
1.72 2. 64 3. 60 4.48
56,
1.37 2. 40 3. 42 4. 44
SCERT, UT Chandigarh
DES&M/08/13
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B
1,35 2. 29 3 31
58, 4, 33
1. 83
54,
A
18
1. 37
60.
8
t-23 283 q. 1D 4 36
DES&MI0BM3 9) SCERT, UT Chandigarh
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Directions (61-70): In question 61 to 70, Frdur (61—=70): wsw wew 61 F 70 W A w1y
there is a problem figure on left hand o wvw v wwen fE G w2, @ B osem &
side, which is incomplete. From the four = wow BU e 9w W Ie ¥ F @ I O,
aptions given on right hand side, choose i famn foew mwsr, (7) W 98 A3 s frm w A
the correct one, that can fit into (7)), with- )

out changing the direction.

Probiem Figure Options

SCERT, UT Chandigarh
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o g

O IPRPE

SRS
%CJ Q‘b\ ')

7 0 |
1. 2. 3 4.

Directions (71-80); In the following R (7180 ): e ool W i s A B

guestiq_nﬁ there is a certain relationship 3 -
In the first two figures on left hand side. B T S8 ey af i R A A Rl

The same relationship exists between the F A2 e R ovw w3 B ey e W @
next two figures of which one is missing: o T e A | .
oy e [

Find the missing one from the given
alternatives.

Pr-blem Figure Options

HUZ?QZQA

71

e | T— T

3 4.
SCERT, UT Chandigarh
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1 2, 3, 4,

T3,
[Vt 11 VTV LH T[40
s 2. 3, 4

74,
A
4.

75,
4.

78,
M [ I LI L
i E 2. 3. 4.

Ti.
Ok PP ®|®
¥ 2. 3. 4.

DES&M/DBM3
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78.
» ? &
d
1 2 3 4
79.
; (AR
- &%
1 2 8 4
80.
LI e = || |-
, |
2_ 3 4,
Directions (81-85): In questi 1 85 (81—85): U3 weur 81 & 85 # T/ 30
you are given a combination Iez+ w1 vF ©E o T £ e 12,5 AW g4 sfew
numbers followed by four alter oy
= famedl % A Tw freer gfie @ fig
2 4. 4 -
1,2,3 and 4. Choose the altern tw@ T e 3 i S G =l

most closely resembles th ror- |
of the given combinatm@

81. SCHOOL
1.2CHOO1 2.100HO2 3.L.OOHOS 4. 100HC2

82. COLLEGE
1. 3941100 2.3G31100 3.3G3ILLOD 4.3923.110C

63, 98724
1.42Y82 2. pSV89  3.hSY8R  4.pC78e

84, CLASS
1. 8SSAJO 2. 22ALD 3.SSAIC 4, 22AJ0

DES&M/OBIM3 (14) SCERT, UT Chandigarh
http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html
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85. AMBULANCE,
1. IOMALUEMA 2. 3CNAJUEMA
3. 3OUAIUEMA 4. ECUAIUEMA
Directions (86-90): In question 86-90, fdor (s6-90): wmr whear a8 # oo @ ol s

you are given a combination of letters/ L > 5
numbers followed by four alternatives d.m; ﬂ W W fa o @ fad 12,8 am g
1,23 and 4 Choose the alternative, fae 1 w7 el ¥ 3 Qe fewes e S ey

which most closely resembles the water TR AR/ SEeE w6 S il e
image of the given combination.

86. RAUJ
1. BV1 2. 8V 3.BVr 4.4vr

87. VAYU36

1. AVANER 2. AVAN3R 3. AVAN39 AVYANEY

1.oe  2.k¥OG 3. tf%?:‘ @Q?
S O

89. FAMILY

1. IVINITA 2. I:‘v’MI'IA{ m 4. EVINITA
90. wrote 0

1. wiLoge 2. mLofe 3. mLote 4, MmLote

DES&M/IOEM 3
(15) SCERT, UT Chandigarh
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SECTOR 32;'6FF°CHANDIGARH

National Means-cum-Merit Scholarship Scheme Examination-2013

{held on 10.11.2013)

ANSWER KEY
Mental Ability Test (MAT)

Q. No. Ans. Q. No. Ans. Q. No. Ans.
1 4 31 4 61 2
2 3 32 1 62 4
3 i 33 4 63 4
4 4 34 3 64 4
5 2 35 2 65 1
6 3 36 1 66 2
7 1 37 4 67 1
8 1 38 3 68 4
9 4 39 1 69 3

10 4 40 2 70 4
11 3 a1 4&1 RO 4
12 4 02 ¢, 4 O 72 4
13 1 63 Q‘\ 73 3
14 2 =5 | O\ 74 2
15 3 S 3 75 3
16 2 @\ 4 76 1
17 4 (ﬂa? 1 77 3
18 2 " a8 2 78 3
19 1 49 3 79 4
20 C 50 2 80 Bl
21 2 51 1 81 2
22 4 52 3 82 1
23 2 53 4 83 3
24 3 54 3 84 4
25 4 55 3 85 3

2 2 56 3 86 1
27 4 57 4 87 2
28 1 58 1 88 3
29 2 59 2 89 4
30 2 60 = 90 2

SCERT, UT Cha
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ROLL NUMBER:
1:[?'[ +.:

BOOKLET NUMBER:
TfEcTenT T

' SCHOLASTIC APTITUDE TEST = 2013

TIME: 90 MINUTES
a5 : 90 fAEe

Instructions to the Candidates

Read the following instructions carefully before
you answer the questions.

1. Answers are to be given on a SEPARATE
ANSWER SHEET.

2. Please write your twelve digits Roll Number
very clearly on the Test-booklet and Answer
Sheet as given in your admission card.

3. Please note and follow the instructions, given
on the answer sheet for writing the answers.

4. Darken the circle with pen for answeri
the guestion in the appropriate space
s

the number corresponding to tha,qg il
YOU are answering.

5, There are 80 questions in Ehlw ‘-—1’

Since all questions are comMory, Eif.‘r n
try to read the whole guestion pap
beginning to answer it.

7. Ifyoudo not know the ans oan stlon
do not spend much tim t nd pass on to
the next one. If time u can come

back to the questtons ],"DLI have left in
the first instance and try them again.

8. Since the time allotted for this question paper
is very limited you should make the best use
of it by not spending too much time on any
one guestion.

9. Rough work can be done anywhere in the

Test booklet but not on the Answer sheet/
loose paper.

10. Every correct answer will be awarded one mark.

11 Please return the Answer Sheet to the
invigilator after the examination.

MAX MARKS: 90

T’lﬁﬁ:?ﬂ

wWienfai & e Fda
Ul & I S F UEA e el o) eeeeigaes Ty

1.

2

7.

o

10.

10

I U oW 3% 9= W 7T @

AT ERE Ieh! T Uel W e o amE A
T % fiar A 8, ¥ gfie FiX S T W an
T forfEm |

mmﬁrﬁﬁaﬁ%%%qmwwﬁ?w
aﬂaﬁaﬂmmﬁm I

a??ﬁ’m b o B e -
B e a1 o e e = (e |

i \3)

h‘;ﬁ;ﬁﬁm W 90 TITF |
2» it wft e s ¥ sl e e s

H o qd W AT T Y T s T i

Tfd a1 &4 9 @ I A6 W € A 98 W g5
TG TEY #N S ¥e 9 9% Wl o wm #
T faet A1 o vl =6 e wEe 2 Bor o w
T, A S 39 30t o o A sty |

o 1 O e e 9 B 2 M o B o
Tafe T9eR sifveras Iua fEfw &k el v
% FET @9 | el

e 0 Bt ol o R - O 2 s e
fée TEE T9E / FEE AT TR |

Teleh @51 3A¢ & 110 U 3ieh WeTd feRdaT WA |

HIAT TN & E IR T Friders ot
wrer 5Ty |1

Please turn over the page and start your work

AT IS Tefey d HUAT S JRERT ST
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1. The basic unit of speed is : 6.

1. km/min
2. m/min
3. km/h
4. mfs

2. Side mirror used in vehicles is :

1. convex mirror A
2. concave mirror

3. plane mirror

4. none of these

3. In the symbol of cell , the longer line rep-
resents its which terminal 7
1. Positive terminal
2. Negative terminal _

3.  MNegative positive termmal %
4,  Positive Negative IEFHHIT]HF’.!‘.—

4  The most comfortable dlstance at \0
one can read with a norm t’
about____ cm.

LR
2. 20
3. 18
4, 25

9. The reflection from a smoath surface like
that of a mirror is known as: 10
1. Diffused reflection
2. Regqular reflection
3. Lateral inversion
4. None of these

DES&NM/08/13 (2)

ugncy* for?

@@, 20 Hz
000 to 30,000 Hz.
D o
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Which of the following is not the planet of

Sun?
1. Sirius

2. Mercury
3. Satumn

4  Earth

Really destructive earthquakes have
magnitude higher than
ter Scale.

1. 4

on Rich-

ol = S

3
5
¥

W much is nge of audible fre-

ar?

30,000 to 40,000 Hz
20 Hz to 20,000 Hz

Wires used in electric fuses are made from

some special materials with

melting point.

1. high

2. low

3.  very high

4. either high or low

Friction can be reduced by use of:

1. grease

2. graphite

3. oil

4. all of the above
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1. km/min 1 e
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m/s i
5. A ¥ TR WTem TeE ohw B E
7 e R e o e T oy qive,
1 399 39w
............................ # fies 2rar &)
2 Fads =
14
3 e 2
5 &
4 H A A
3 &
3 g dm @ i § W e wew e el =
Frefir et 27 \O
e o Q%M?ﬁa&amagﬁimmﬁﬁﬂm_
2 v oA C.) d\c
a8/ =rm o e % Q 20,000 % agooo Hz
4 uF W e “ 30,000 ¥ 40,000 HZ
4 WEE A W T F R et 4 20Hz % 20,000 Hz
T ] .ﬁ‘r.ﬁtﬁig 9 Fu v TR ¥ e few el @ Aw o
1B I o s 2, et T BT 7
2 20 1 AR
3 18 ' z
4 25 I SR
R B % CC O COE Y S Y 4 T e
. : I L = R B e B e o e e e T B
i e L o
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11. Sound cannot travel through: 16. The amount of water recommended by the
1. R United Nations for drinking, washing, cook-
2 i ing and maintaining proper hygiene is mini-
— I litres per person per day.
1 100
4. Vacuum
2. 150
12. The temperature of the human bady gener-
ally lies in the range: 3. 50
1. 27°C to 45°C 4200
2. A5'Cin42°C 17 Generally the nature of oxides of metals is:
3, 15°Cto50°C 1. Acidic
4. 20°Cto47°C 2. Basic
13. The commonly used natural indicator, lit- 3. Neutral
mus, on addition to an acidic solution gives % None of thes
colour and in basic solution it turns
; dium m &. red in kerosene, because!
_in colour,
f 14° it@ open
1. purple and red Q’ \ , e
) 9 o . . .
E evaporates in air
2. blue and red %
@ 3. it decomposes in air
3.  red and blue
4. itis very reactive,
4. blue and purple
19. In displacement reactions a more reactive
14. The preperly of metals wiRich Wyey can be ;
metal displaces another metal from its com-
beaten into thin sheets is : _
N pound in agueous solution. An example of
1. Ductility
displacement reaction that will occur is:
2. Malleability _
1. Zinc granule (Zn) + Copper sulphate
3. SO:"&U!‘OUSIW {EUSOd}
4. Conductivity 2. Cuturnings (Cu) + Zinc sulphate
15, An example of chemical change is (ZnS0,)
1. dissolving sugar in water 3. Cuturnings (Cu) + Iron sulphate
2. melting of wax (Fetl)
3. cutting a log of wood into pieces IHRADAlFeTnG sulphate
(£nS0,)
4. photosynthesis
DES&M/08/13 (4) SCERT, UT Chandigarh
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- S 3wl T8 2 "l | 16
1 W
2 7a
3 BM
a4 faE
12 AT A AN AT & i ¥ A
7
1. 27°C #45°C "
2. 35°C m42°C
3. 15°C & 50°C
4. 20°C #47°C

13 WA ®Y W 39E R S A weEfae g,
forewa, sty faeas & e s e T
El o A 1 i S o o S © )

(R e e i C )
2 e 9w % J
3 FE A e @
4 Al Ay O“

14 wEd W oEE e Bed wwg SR deer e w7
ﬂﬁﬁ%wm%@ ...... - TFEAE B
1 T
2 FHFEUEEE
3 eAteRar
4 g

15 AR TRa # v S
1 WA H W HeE
2 A e
3 TS & s T TEE § e
4 U FEAT
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@ foe |, wges o oW e wfde = e wend

WEOTH B T H s faze uf
=fEF wf B 3

1100

2 150

3 50

4 200

Bl s o S || e 1 = | A TE F e
#)

1 Iy

2 R

3 FEER

Tl W od A GRE W T E,

MY W e R
o= T A awitas B e R
o weE % Rl ) owE 2
7 @gd sk 2

T sifefRnr % e sfer arfafradie o,
o FilEare arg = e @ ww
v T sfdiear ot a6, Sat Fem 2
fifer & g@w2(Zn)+ w=W oehe
(CuSO,)

did it T (Cu)+ fife wede
(ZnSO,)

1

A o e (Cu)+ s wede
(FeSO,)

A FieA( Fe )+ e awhe
(ZnS0O,)
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20. Apart from petrol and diesel, the other prod - 24

ucts obtained from refining of petroleum are:
1. Kerosene

2. Paraffin wax

3. Lubricating oil

4. Al of the above

21. Acombustible substance cannot catch fire or o5

burn as long as its temperature is

than its ignition temperature.
1.  higher

2. lower

3. does not depend on temperature
4. equal

22. For fires invalving electrical equipment ang
inflammable materials like petr @a
extinguisher is: %

1. Water

2. Carbon dioxide

3. Mixture of water and ¢ ioxide

4. MNone of these

23. Depending upan the calorific value, amongst

kerosene, methane, LPG and hydrogen the

ideal fueal is: 28,
1. LPG
2. Methane

3. Kerose ne

4. Hydrogen

DES&M/08/13 {6)

«O

When dilute sulphuric acid reacts with re-

active metals like Mg, Zn etc. then the gas

avolved is;
1. @,

2. S0,
3 4,

4. 80,

The desert plants have scale- or spine- like |
leaves because: |

1. toincrease loss of water |
2. toabsorb more sun energy
3. toincrease loss of oxygen

4. to reduce loss of water

26. Toeth decay is caused due to breakdown of
sudgrs present in oVl food in the mouth

Q@ybacterla cf@ se of:

&1-4

ases
4. None of these

The country which leads the world in siik pro-

duction is;

1. India

2. China

3. Pakistan
4. Mepal

The soil which contains greater proportion of
big particles in it 1s called:

1. Sandy soil
2. Clayey soil
3. Loamy sail
4. None of these
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1 fedt e 3w
2 HafeT A
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21, IEI TR W A W A UwE WEA o e e
A WE A ] AT IHE S - F
TEAT B
(- 51
2 A
3 AT H FE e A Q
4 |
2z faus greem 3 A W t.F‘-Lﬁ '-'-T
o o wmd s sl 2 O“
- «
2, EmzEsiEEEE
3. 9 MR wEAEE A g G
4 T d wE A
23 I WA W STUR WA g, fAed w1 aa, d9,
TS T TS ¥ W e du
Lo G
2. Wi
3. Ped e aw
4. PEEEE
DES&M/08/13

(7)

www.TrbTnpsc.com

& Mg, Zn snfz stér femdie emay w7 awuafe
e & affE gl # 3 3 Iere B a1

2

1 G‘,z
i 5D2
3 H,
4. S0

A wred # wfl meen g gE wq A #
Faifas:

1 W B E dEE &

2 T B FOn i w8

3 A Fae @e &

a T o AN TFTT F faw
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EER

T T AR
%mmﬁfﬂawzﬁﬁtmww}w%mi
1 G
2 =
2 i
4 HWE

ECl R R e A R ks PO ot e
FEd

[ P
2 A
s TR
4 T A A A

SCERT, UT Chandigarh

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



www.Padasalai.Net

STSE 2013
34,

29, The organic manure is considered better than

fertilizers because:

1. itenhances the water holding capacity
of sail.

2. itincreases the number of friendly

microbes.
3. itimproves the texture of the soil.
4. All of the above.
30. Chicken pox is a disease caused by:
1. Bacteria
2. Fungi
3. Virus
4. Protozoa

31. The maost commeon carrier of communicable

diseases is:
1. Ant
2. Housefly

3. Dragonfly
4. Spider

32. Those species of plants and an"u%ts @
la

are found exclusively in a part rea are
known as: '

1.  Endemic species

2. Exclusive species

38.
3. Endangered species
4. Wild life species
33. The long and branched cells which perform
the function of transferring messages are
known as: 39.
1. Red blood cells
2. Muscle cells
3. Nerve cells
4. White blood cells
DES&M/08/13

35.

36,

www.TrbTnpsc.com

The number of nuclei present in a zygole is:
1. One

2. Two

3. Three

4. Four

The sex of the unborn baby is determined by

the sex chromosomes of:

1.  Father

2. Mother

3. Both father and mother

4. MNeither father nor mother

Which one of the following is a ferrous
eral .

Nhich one of the following is referred to
as 'buried sunshine’?

a. Petroleum

b. Coal

c. Natural gas

d. Rain water

"Jhumming" means:

a. Shifting cultivation

b. Nomadic herding

c. Commercial farming

d. Mixed farming

Energy obtained from the earth is called:

a. Tidal Energy

b. Geothermal Energy
c. Wind Energy

d. Biogas

SCERT, UT Chandigarh
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40. Covering the bare ground between plants  46. The Tomb of a Sufi saint is called |
with a layer of organic matter like straw is a. Khangah
called: b. Dargah
a. Contour Ploughing c. Iidgah
b. Contour Barriers d Havel
e Muiching 47 "u"'-l."h devisad the 'Docri Fil ?
d. Terrace farming : o devised ‘e ocrine of Lapse’”
41. The narrow zone of contact between a. Lord Canning
the lithosphere, hydrosphere and atmo- b. Lord Hasting
sphere is called: ¢, Lord Rippon
a. Biosphere d. Lord Dalhousie
b. Ecosystem 48, Delhi first became the capital of a king-
c. Stratosphere dom under whose rule?
d. Exosphere .
: _ a. Tomara Rajput
42. The process in which metals are ex- )
tracted from their ores by heating beyond b. Khaljis
melting point is called: C_p Tughlugs
a. Quarrying ,d&_odhis
©. Mining Qﬂho founde \Brahmao Samaj™?
c. Drilling tohah Roy
d.  Smeiltin
v ‘ élﬁd}f‘r Nath Tagore
43. Protected areas intended to d *rate
the relationship between con ruatm ’iahatma Gandhi
and development are known as: O d ‘Swami Dayanand Saraswati
a. Wildlite sanctuary 50. Who raised the slogan "Freedom is my
b. Biosphere reserves Birthright and | shall have it'?
¢c. Forests _— .
d. Grasslands a. Lala Lajpat Rai
44, Temperate grasslands of South Africa are b. Bhagat Singh
Known as: ¢. Mahatma Gandhi
ja. Velds d. Bal Gangadhar Tilak
“ Sava_nlna a1. Who renounced his Knighthood (o
¢.. Praires express pain and anger against the
d. Pampas Jailianwala Bagh massacra?
45, The uppermost layer of the Atmosphere 5 Babindnat Teaors
is knows as: N MR
b. Mahatma Gandhi
a. Troposphere
b. Thermosphere Jawaharlal Nehru
c. Exosphere d. Mohammad Ali Jinnah
d. Stratosphere
DES&M/08/13 (10}
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The 'Civil Disobedience Movement' 59, Which Article of Indian constitution states
was launched in the year: that no citizen of India shall be discrimi-
a. 1920 nated on the basis of religion and caste?
b 1925 a. Article 15
o 1932 b. Article 17
- c. Article 16

d. Article 18
Who wrote Ramcharitmanas? 60. Which section is often referred to as ‘con-
a. Kalidasa science’ of Indian Constitution?
b. Ved Vyas a. Preamble
¢. Tulsidas b, Directive Principles of State Palicy

d. Rishi Vashisht ¢. Fundamental Duties

54. Who was the first Mughal Emperor? d. Fundamental Rights
a. Humayun 61. The powers that the Government has to
b. Babur Fiisaliow Imedial frnlm publishing or show-
= AliGar in E_:I‘tall'l stories is termed as:
g — Dispossess
- Janangir Sr::rship
55, Alvars are devotees of: Ostraci
a. Vishnu ré)
b. Shiva C ) EE V éﬂ tefhtroduced the Mid Day Meal
c.  Krishna cheme in India?
d. Brahma . Tamil Nadu
56. Existence of more than one lev Uf b. Kerala
ernment in a country is calleg c. Haryana
a. Sovereignty d. Punjab
b. Monarchy . When someone forcefully breaks the law
c. Federalism or shows disrespect, it is known as:
d. Secularism a. Discrimination
57. The Rajya Sabha is chaired by: b. Detention
President of Indi c. Violation
z, U_rempen .D ndia . d. Stereotype
= visecriesgeny arindla 64. An officer of the court who presents ma-
Gt SUeRer terial and evidences impartially before
d. Prime Minister the court to enable the court to decide the
58. PIL Means: case is:
a. Public Interest Law a. Judge
b. People's Interest Law b. Public Prosecutor
c. Public Interest Litigation c. Defence Lawyer
d. People Interest Litigation d  Witness
DES&M/08/13 (12) SCERT, UT Chandigarh
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The ‘Protection of Women from Domestic
Violence Act’ came into effect in the year:

a. 2006

b. 2007
c. 2005
d. 2008
66. The system whereby the merchant sup-
plies the raw material and receives the
final product is called:
a. Marketing System
b. Co-operative System
c. Producing System
d. Putting Out System
67. Agroup of people with common interests
coming together and working together for
their mutual benefit to reduce the role of
a merchant is known as:
a. Cooperative
b, Party
c. Producers C
d. /Wholesalers % J
68. Special identification or nam sociated
with a product is known as:
a. Value O
b. Sign «
c. Advertisement 0
d. Brand
69. Roads constructed under the ground are
known as:
a. Fly overs
b. Expressways
c. Metros
d. Subways
70. Leading producer of Rice is:
a. China
b. India
c. Japan
d. Egypt
DES&M/08/13
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-

L | o

bd | b
1'3-|'J|

The multplicative inverse of [
b

13
12
12
12
13
13
12

1
Ly

Which of the following rational number

>
exactly lies between —% and 1

1. 0.6 %
2.-0.05
3. 0.05
4. 0.75

123.21

“@ 4. 123.60

Iftwo coins are tossed simultanecusly, then
the probability of "getting no head" is:

1. :
4
5 L
3
5 2
£
4,
2

Seema is twice as old as Geeta. Five
years ago, her age was three times
of Geeta's age. What will be the present

ages of both Geeta and Seema?
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1. 10 yrs, 20 yrs. 81. The value of unknown interior angle 'x' in
2. 10 yrs, 30 yrs. the given figure is:
3. 20yrs, 10 yrs. 1. 118"
4. 12 yrs. 10 yrs. 2, B85
76. If an exterior angle of a regular polygon is 3. 507
two- fifth of a right angle , then the number 4. 1307
of sides in it are: :
1. 8 A
2,10 7/ \
3. 12 /
4, 14 \

77. Sham invested an amount of TE000 in

a fixed deposit scheme for 2 years at

ar

.-"lll;l
/N

8e.

Sl

—

(¢+3) (x-3) (*+9) =7

compound interest of 5 % per annum in ., 4-81
a bank. The maturity amount received at ,% ¥ +81 “
the end is : Q ; ‘
1. T BEGD CQ/ 83. T t’y root of 0.007225 is;
2. 78620 J é 3 7t
3. T 8800 % 0 980
4, 78820 3. 0.089
. “ 4. 0.085
78. (=3)*x (‘%J} % (=2)" - ); Q 84. chenhfy the given shape from options
1 86 given below:
> 81 0 1. Aconesurmounted byahemisphere.
2. Acone taken out of aylinder.
3. 82 3. A hemisphere surmounted on a
4, 83 cone.
79. Thevalue of (1"x2"%3")* is: ‘ Egﬁ;?sgger'e.surmoume‘j .
1 B
2 B
3.1
4. Infinite \]l
80. The mean of first ten odd numbers is - r;i TR ll'
1. 2.5 l'
2. 52
3. 10.0 _;:'."-_r:_'_—..:.'..,
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55. Aloaded truck travels 14 km in 25 minutes. If 89, The value of the angles ‘x' and v in the given

the speed remains the same, how far can it ﬁQUHi is: .

travel in 5 hours? 1.5657, 125
2125565

1. 168 km 5 BEY 4108

2, 186 km 4. 1107, 55°

3. B18km

4. 861 km

B6. The circumference of a circular disc of
diameter 14 cm is:

1. 88cm
S 90. A parallelogram with all sides of equal length
3. 22cm is known as:
4. 154 em 1. Kite
2. Rectangle
87. The area of a square park whose perimeter is 3 _#hombus

R
S

3. 640 m*

4. 360 md \ C®
88. If the diagonals of a rhombus are 48@

and 20 cm long, then the per of t
rhombus is:
1. 100 cm
2. 102 em
3. 104 cm
4. 108e¢m

/ S

D\'\ i B
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85. I W TR 5 UF T 25 Rz ¥ 14 BAL uma o W s X i 'y e # wy w3
‘5‘|Iﬁ%?a1c—vraéh%,a‘fa35 H2 3 a2l aw = 1.55° 125°
IR | 2. 125° 55°
1 168 Tl 3.55°% 110°
5 Nad P 4.110° 55°
3. 618 e \m& —
4. 861 T, F/
X 55° (50X
86, 14 A wF F vw Mawn Ber w9 qify
i
188 RAL f,,// T
2. 44 AF } ™
3. 22 H#AL oF e g & ol yand auar W A A 2
4. 154 FHt wEA &
67. wE Falwr e, faw w5 afag 320 Her & w0 LR
S B 2. HET
1. 6400 HP « 3, HRATY
2. 80 ¥ Q 4.t ‘
3. 640 Q P e C)Q‘
4. 360 ¥ ( ) 6\; ,)
88, AT v wagNd = Al af“%é 48 A9 g Q‘
20 #HL € W 39 BHETdW w5 Ay ®
1. 100 FH
2. 102 ¥4t «
3104 AL 0
4. 108 FHL
A
B] B
c
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National Means-cum-Merit Scholarship Scheme Examination-2013
(held on 10.11.2013)

ANSWER KEY
Scholastic Aptitude Test (SAT)

Q. No. Ans. Q. No. Ans. Q. No. Ans.
1 4 31 2 61 2
2 1 32 1 62 1
3 1 33 3 63 3
4 4 34 2 64 2
5 2 35 1 65 1
6 1 36 4 66 4
7 4 37 2 67 1
8 4 38 1 68 4
g 2 39 2 69 4
10 4 40 .’ﬁ 1
11 4 41 ,<é 1 é: : 2
12 2 122\ :kxc‘ 72 3
13 3 . Uk (@.) 73 3
14 2 ! 74 3
15 4 45~ \%"3 75 1
16 3 4, ) 2 76 5
17 . \&4? - 4 77 P oad
18 a_ \]) s 1 78 2
19 1 49 1 79 3
20 4 50 4 80 3
il 2 51 1 81 2
22 2 52 4 82 1
23 4 53 3 83 4
24 3 54 2 84 4
25 4 55 1 85 1
26 2 56 3 86 2
27 2 57 2 87 1
28 1 58 3 88 3
29 4 59 1 89 1
30 | 3 60 4 90 3
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